Math 109  Quiz 1    8/30/07         with answers
  [ Put your name on your paper.  Show steps in calculations.]

1. Indicate the property that is used to get each line:

 [associative, commutative, identity, inverse, distributive]

 (y  + 3) (1/3)  =  (1/3)(y + 3)             line 1   commutative
                        =  (1/3)y + (1/3)3        line 2   distributive 

                        =  (1/3)y + 1                line 3   inverse
2.  Write “x is greater than or equal to  -2” in interval notation and using symbols [from <, (, >, (] and draw a graph of it on the number line.

[-2,()           x(-2                                            [                                              

                                                                       -2

3.   Evaluate  (3q+5)/(p-5q)  if p = -3  and q = -2.   -1/7
4.  Evaluate  
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5.  Evaluate:    (3-9(-(5+4(     -3 

6.  Find, if possible, any values for x such that (x(- x = 3.  
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